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I — (5 points)

(Show all the steps of calculation)

1) Given A=\/E—\/§+\/%.

Show that A = 6\/5 .

1

J2+1°

Show that B=\/§—1.

2) Given B=

3) Given c:=(J§+1)2 +1,

Show that C = 2\/§+ 4.

4) show that Bx AxC =24,
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Il — (6 points)

1) Given P(x) =(2x+1)" = (2x*+9x + 4)
a. Verify that (2x+1)( X +4) = 2x* + 9x+4.
b. Show that P(X) =(2x+1)(x—3).

c.Solve the equation (2X + 1)( X — 3) =0.

()« 209

a. Verify that 4x* —1=(2x—1)(2x +1)

b. For what values of x, is H(x) defined?

x—3
2x—1

c. Show that H(x) =

2
3)Solve H(x) = 5
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111 — (5 points)
X+y=16

1) Solve the following system:
2X + 3y =38

2) The following table represents the distribution of electronic games in a shop

according to their prices:

Price of an electronic game 3000 4 000 5000 | 6000
(inLL)

Number of electronic games 9 m 15 n
Total price 3000x9 |4000x m

a. Complete the table.

b. The total price of all electronic games in this shop is 178 000 LL.

e Show that this information is modeled by the following equation:
2m+3n =38,

c. Knowing that the total number of electronic games in this shop is 40.
Show that this information is modeled by the following equation:

m+n=16.

d. Using the two equations found in b and c:

e. Calculate m and n.

V- (2 points)
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Given the proportional table below:

a

4

10

a) Calculate axb

b) Given

V- (2 points)

Given

b=8, -calculate aand23c

X=2and Y=4

a) Calculate X*+ Y?*

b) Deduce

(X+Y)?
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